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Exercice: 1 (10 points)
Let f be function de�ned from R4 to R4 by :

f(x, y, z, t) = (x− y + z, 0, x+ y − z + t, t)

1. Show that f is a linear function.

2. Determine a basis of the ker(f) and deduce its dimension.

3. Is the function f injective ?

4. Give the rank of f . Is the function f surjective ?

5. Let E subset of R4 de�ned by :

E =
{
(x, y, z, t) ∈ R4; x+ y − z + t = 0

}
a. Show that E is a vector subspaces of R4.

b. Give a basis for E and deduce its dimension.

c. Are E and ker(f) supplementary ?

Exercice: 2 (10 points)

Let the matrix : A =

 0 1 0
−1 2 0
1 0 −1


1. Show that A is invertible.

2. Calculate : A3 − A2 − A, then deduce the inverse matrix of A.

3. Using question [1], show that A2 is invertible and calculate its inverse.

4. Let the following system of equations :
3x− 2y = 4
2x− y = 3
x− y + z = 2

(S)

a. Write the system (S) in matrix form.

b. Show that this system (S) is a Cramer's system.

c. Find the solution of the system (S).
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Exercice 1 (10 points)
On considère l'application f : R4 → R4 dé�nie par :

f(x, y, z, t) = (x− y + z, 0, x+ y − z + t, t)

1. Montrer que f est une application linéaire.

2. Déterminer une base du ker(f) et déduire sa dimension.

3. L'application f est-elle injective ?

4. Donner le rang de f . L'application f est-elle surjective ?

5. Soit E une partie de R4 dé�nie par :

E =
{
(x, y, z, t) ∈ R4; x+ y − z + t = 0

}
a. Montrer que E est un sous-espace vectoriel de R4.

b. Déterminer une base de E, puis déduire sa dimension.

c. E et ker(f) sont-ils supplémentaires ?

Exercice 2 (10 points)

Soit la matrice : A =

 0 1 0
−1 2 0
1 0 −1


1. Montrer que A est inversible.

2. Calculer : A3 − A2 − A, puis déduire la matrice inverse de A.

3. En utilisant la question [1] , montrer que A2 est inversible et calculer son inverse.

4. Soit le système d'équation suivant :
3x− 2y = 4
2x− y = 3
x− y + z = 2

(S)

a. Ecrire le système (S) sous le forme matricielle.

b. Montrer que ce système (S) est un système de Cramer.

c. Trouver la solution du système (S).
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